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Maximum Marks : 50 Time : 60 Minutes
nox ©osnsh : 50 RaDodd : 60 QML
. Write an essay on any one of the following topics in not more than 600 words : 30

BB0R ORI WoTd DFOIT Wit 600 IT[ALT oeTwe3 SAIAFNleloveiel

(a) Role of media in woman’s safety

ooyt RTIeE, WRGRE T8,

(b) Uniform Civil Code — A Constitutional Mandate

DBORE FoR0T A0k — RONTITIZE (Siale]

(c) Contract farming versus Corporate farming

T3 g8y QOO ToTPEF TS By

(d) Internal National Security threats of India

YO0 $50308 Ty 030 533,30 LS00

(¢) Composite culture of India

30T ROOJRETS KoRyd
Il. Translate the following paragraph from English to Kannada : 10
B3 598078 09,0033, esor} s o00n B Loskn LRTOSOR.
. There is a lot of stress all around us these days. Most people complain about

problems at office, issues in relationships and the growing competition in various fields.
People are so engrossed in dealing with these issues that they don’t see the real beauty
of life. There is so much more to life than these things. In fact, if we look at life closely,
we will realize how beautiful it is. God has given us an abundance of everything. This
is evident when we look at the nature. The trees, plants, rivers and sunlight — everything

is in abundance and so is the energy that resides within us. This is the beauty of life.

1 P.T.O.
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However, this is not to say that life'is a bed of roses. It is not that problems and
concerns of people are not genuine. The rich, the poor, the educated, the uneducated,
the beautiful and the not so beautiful — everyone has his/her share of problems. Life is
not easy for anyone. However, we need to understand that this is how life is. If
cverything came easy we would not really value it. Life is beautiful in its own way and

we should look for reasons to enjoy it and embrace its beauty amid the issucs we are

dealing with.

Translate the following paragraph from Kannada to English : 10
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PROVISIONAL ANSWER KEY OF THE WRITTEN EXAMINATION OF
POLICE SUB-INSPECTOR (KSISF) HELD ON 29.01.2023

SERIES - C
1 b 26 b 51 b 76 c
2 b 27 c 52 c 77 c
3 a 28 b 53 b 78 a
4 b 29 d 54 a 79 b
5 b 30 b 55 b 80 a
6 b 31 b 56 C 81 c .
7 b 32 a 57 c 82 a
8 c 33 C 58 c 83 c
9 b 34 c 59 c 84 d
10 a 35 d 60 d 85 ¢
11 b 36 b 61 b 86 d
12 b 37 c 62 d 87 c
13 a 38 d 63 b 88 b
14 b 39 b 64 b 89 d
15 d 40 a 65 c 90 a
16 c 41 c 66 b 91 b
17 c 42 c 67 b 92 a
18 a 43 C 68 b 93 c
19 b 44 b 69 a 94 c
20 b 45 C 70 b 95 b
21 c 46 a 71 b 96 b
22 c 47 a 72 d 97 a
23 d 48 Cc 73 a 98 b
24 b 49 b 74 c 99 b
25 c 50 c 75 c 100 b
Date : 31.01.2023.
LA\

(Kamal Pant, IPS)
Director General of Police,
Recruitment ,

Carlton House, Palace Road,

NOTE : Regarding any dispute in the Provisional Answer Key, candidates are
advised to send their representations / objections to the Director General of Police,
Recruitment , Carlton House, Palace Road, Bengaluru -560 001 or by e-mail to
ssrnt@ksp.gov.in within 08.02.2023 with proof of their claim. No representations /
objections regarding answer key will be entertained after 08.02.2023.
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1.

‘INSACOG’ is a ‘SARS-CoV-2 Genomics
Consortium” of which country ?

(a) China
(b) India
(c) USA
(d) Israel

Dr. Chennaveera Kanavi, who passed
away recently, was associated with which

profession ?

(a) Music
(b) Writing
(c) Sports

(d) Politics

Who is the only contestant from India, in
the Beijing Winter Olympics 2022 ?

(a) Arif Khan

(b) Neeraj Chopra
(¢) Shiva Keshavan
(d) Jagdish Singh

The Archaeological Survey of India

(ASI) is an agency functioning under the

aegis of which Ministry ?

(a) Ministry of Housing and Urban
Aftairs

(b)  Ministry of Culture

(¢) Ministry of Tourism

(d) Ministry of Tribal Attairs
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What is the name given to a business with

a value more than USD 10 billion ?

(a) Unicorn
(b) Decacomn
(c) Decathlon

(d) Decagon

What is the name of new scheme
announced under station redevelopment
drive of Ministry of Railways ? '
(a) Atmanirbhar Bharat Station Scheme
(b) Amrit Bharat Station Scheme

(c) Bharat Rail Station Scheme

(d) Atal Station Scheme

Rhtl3, which was seen in the news, is a

semi-dwarf gene of which crop ?

(a) Rice
(b) Wheat
(¢) Cotton
(d) Jute

Which team clinched the third place in the
FIFA World Cup 2022 2

(a) England
(b)  Morocco
(¢) Croatia

(d)  France
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Which of the following crops are millet ?

(1) Jowar
(2) Maize
(3) Ragi
(4) Bajra

Select the correct answer using the code

given below :

(a) (1), (2), and (3) only
(b) (1), (3), and (4) only
(¢) (2),(3)and (4) only
(d) (1),(2),(3)and (4)

UIDAL is a statutory authority established

under which Union Ministry ?

(a) Ministry of Electronics &
Information Technology

(b) Ministry of Home Affairs

(c) Ministry of Finance

(d) Ministry of  Science  and
Technology

Aung San Suu Kyi is the former leader of

which country ”

(a) Thailand

(b) Myanmar

(c) B;mglmlush

(d) Nepal
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Ihe G2 grouping In news is between

which countries

(a)
(b)
(c)
(d)

)

India-China
China-US
Russia-China

Russia-US

BIND scheme, recently seen in the news,

is related to :

(a)
(b)
(c)
(d)

Broadcasting Infrastructure
Defence Manufacturing
Space Exploration

3-D printing

Consider the following statements
regarding the India-China border dispute :

ey

2)

3)

The boundary line at the LAC is
called the McMahon Line in the
eastern sector.

The McMahon Line was proposed
under the Simla Accord in 1914.

During the Sino-Indian war of
1962, Tawang fell under Chinese
control but India gained it back
with the help of Russia.

Choose the correct answer using the
codes given below -

(a)
(b)
(¢)
(d)

(1) only

(1) and (2) only

(2) and (3) only

(1), (2) and (3) only
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ORI regarding Lakshadweep -

(1) amfeoy Bnestrs mérb_ﬁudagd '!_ (1) It comes under the jurisdiction of
- Kerala High Court.
(2) RDOo3REo 03,3 OR. | .
o ] (2) Malayalam is the official language.

() Bmd 8- Feorn, RS B riedmond. (3) Itisauni-district Union Territory.
i
ﬁrawudem F08e3nP0Ts FO0I0TT €50 : | Select the correct answer using the code
_ ! given below :
(a) (1) (2) 03, |

: (a) (1)and (2)only
(b) (2)and (3) only
(¢) (1)and(3)only
(d) (1),(2)and (3)

b))  (2) =3 (3) ST,
© (1) 3 3) 208,

@ (1), 2) BRE)

f

STF TO0R TR 0D MR,0eed ¢VBReER | 16, Consider the following —statements

regarding Mahatma Gandhi National
BeosruRy NSOV ; ! Rural Employment Guarantee Act
(MGNREGA) :

55080 503 (MGNREGA) wri &5 3903

(1) MGNREGA  mawus o

TOZRPICD %maod: E’Duoqﬁ‘ai&i)agl
BRODT.

(1) MGNREGA  has  mandatory

provision of Social Audit.

(2) ¥R STl womd  PRRERD

ed

FOOROLIAND Wo&PoIRATLIEBD

(2) MGNREGA makes it compulsory
that at least one-third. of

e e T s e S Y RS o T T}

beneficiaries should be women.
DOTO MGNREGA ﬁa%o:b—

e o] Select the correct answer using the code

given below :
B/otd B0 MoFeIriven FOOINIT GOk :

1) (a) (1) is correct
(a) ( pato)

1o 3 ‘t
e | (b) (2) 1s correc
(b) (2) %0 |
| h (1) and (2) are correct
(€) (1) 033(2) 2TBR RO f (c) Bot
(d) (1) =R (2) cORDTe 30 e l~ (d) Neither (1) nor (2) is correct
C D (2 YRR X 3
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(d)

-

following  statemeny.

Consider  the
reparding the Review Petition :

Article 137 of Indian Constitutio
provides the legal basis for filing
review petition in the Supremce
Court of India.

A review petition must be filed
within 30 days of pronouncement
of the judgement.

(2)

It is mandatory that only parties to
a case can seek a review of the

(3)

judgement on it. g

Which of the statements given above
is/are NOT correct ?

(a) (1)only

(b) (1)and (2) only

(c) (3)only

(d) (1),(2)and (3)

Consider the following statements

regarding blue carbon :

(1) Blue Carbon is the carbon stored in
coastal and marine ecosystems.

(2) Blue Carbon 1s crucial for carbon
sequestration.

(3) India 1s a net Blue Carbon donor

country.

Select the correct answer using the code
given below :

(@) (D)yand (2) only
(b)  (2) and (3) only
(€) (1) and (3) only
(1), (2) and (3)
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With reference to Commodity market
exchange, consider the following :

(I) In India, Commodity market
exchange is regulated by the RBI.

(2) In the spot market, traders
exchange physical commodities for
immediate delivery.

(3) Futures and Forwards are two types
of commodity derivatives that are
used in derivatives markets in

India.
Which of the options is correct ?
(@) (1)and (2) only
(b) (2)and (3) only
(¢) (3)only
(d (1),(2) and (3)

Consider the following statements
regarding the Fisheries sector in India :

(1) Fishingis a Union subject but states
have responsibility for management

of marine fisheries.

India is the second largest fish
producer in the world.

(2)

The fisheries sector contributes
about 2.5 % to the country’s Gross
Value Added (GVA).

Choose the correct answer using the

3)

codes given below :
(13 only

(2) only

(2) and (3) only

(a)
(b)
(c
(d)

'

(1). (2) and (3) only
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444
432
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(a)
(b)
(c)
(d)
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(a)
(b)
(c)
(d)

2025 o608 SInFsee

(a)
(b)
(©)
(d)

18 @[T e
28 THFAL
27 [RFNLd
25 [ITFAO

2 PHBOW|D
12 Poomad
0 PTOTD
18 Po=d

35
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a8
65
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The LCM of two numbers is 864 and thej,
HCF is 144. If one of the numbers is 288,

the other number is :

(a)
(b)
(©
(d)

577
444
432
148

Ages of ‘A’ and ‘B’ are in the ratio of
2 : 3 respectively. Six years hence the
ratio of their ages will become 8 : 11

respectively. What is B’s present age ?

(2)
(b)
(€)
(d

18 years
28 years
27 years

25 years

If 6 men take 9 days to complete a work,
how many men can complete the work in

3 days ?

(@ 2men
(b) 12 men
(¢) 9 men
(d) 18 men

Square root of 2025 1s

(a)
(b)
(c)
(d)

35
45
55
05
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26.

A man on tour travels first 160 km at 64
km/hr and the next 160 km at 80 km/hr.
The average speed for the first 320 km of

the tour is :

(@) 35.55 km/hr

(b) 38 km/hr

(¢) 71.11 km/hr

(d 75 km/r

HCF of 26 and 91 is :
(@) 15

(b) 13

(¢ 19

d 11

A boy goes to his school from his house
at a speed of 3 km/hr and returns at a
speed of 2 km/hr. If he takes 5 hours in

going and coming, the distance between

his house and school is:

(a) 8.5 km

(b) 5.5 km

(c) 6 km

(d) 9km
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| 29.
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i 30.
2001 T =3[0 1 Je 30000 RRCWT, |

In a clock, the angle between the hoy,

hand and minute hand at 5 10 miy
(a) 60°

(b) 95

(c) 120°
(dy 90°
A car travelling with 5/7 of its acty

speed covers 42 km in 1 hr 40 min 48 se,

Find the actual speed of the car.
(@) 17 km/hr
(b) 32 km/hr
() 31 km/hr

(d) 35 km/hr

January 1,2001 was a Monday. What day

of the week lies on J anuary 1, 20027
(a) Saturday
(b) Tuesday
(c) Monday

(d) S l.ll'ld ay
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| 31. A swimming pool 9 m wide and 12 m long
is 1 m deep on the shallow side and 4 m

l
|
DB evemer Pns) 4 Qoe. BTONG. ! deep on the deeper side. Its volume is :
‘“az:ic; Tomwed  ad. Il (a 309m?
(@ 309 Qo | (b) 270 m?
(b) 270 Qo (©) 360 m?
(c) 360 Qo¢ (d 607 m?
(d) 607 Qo6 |

gjaasasdaoxy WO TODT TOO3D 20 | 32. The perimeter of one face of a cube is

B.Q0¢. aE0 WomReoRy)  enodeso. 20 cm. Its volume must be :
(a) 125 2.008 (@) 125cm3

(b) 500 R.00¢3 (b) 500 cm?

(c) 1000 %.Qo¢3 i (c) 1000 cm3

(d) 9000 3.6 d 9000 cm>

i
WOTH SCVTT0E TFMowTOD DReWDFE | 33, A rectangular carpet has an area of

120 #B@T Qoewdt® &I 46 Qoewot 120 sq. metres and a perimeter of 46
TORODRY, BROT. BTT Feder o TSy metres. The length of its diagonal is:
_ ehd. (a 15m

(a) 15 Qoee3o® (b) 19m

(b) 19 oesso* @ Pm

() 17 Qoessos @ 2m

d) 22 oeesct ‘

! 34. One side of a rectangular lawn is 12 m
and the diagonal is 13 m. Find the area of

E0I0TVTOTE TOLRTOAT WOTD WAOI 12
e, WX OTT Frary 13 Qoe. ﬁ;eg)

|

|

|

|
B, 536303 DReEIFHRY B0 SROWO. | the field.
(@) 30 Q0% (33T Qer3oe) 5 (@) 30m’
(b) 450 " ; (b) 45m?
(© 600 " i (© 60m?
(d) 90 doer " : @ oo



3s.

36.

k7

™,0UN0, BIOFUBE cxns BT 9
()  uwswo

(b) mrewza
(¢) Sl ﬁag‘d

(d) Wb

857423 ﬁoa%d:@mdm W eosny ESJag
DB A wodnd  Iedd B
T, e ?

(@ O

(b) 1

() 2

(d) eI cRY@e ey,

WeTL dmert 5 CRTODO 4 R
SHCIR , 2ot deinert 6 TRTIOWOD 8
tdne  wicieodr QT RRRD. 8
<08, 19T HOWRO tICIORY, 80T &BOdD.
(a) 53 sdne.

(b) ¥5.55a,8 s,
(c) T5.66x8snpe.

(d) T6m8scne.

36.

37,

=14 -

Krauncha Giri is located in which distrig,

of Karnataka ?
(a) Chikballapur

Dakshina Kannada

(b)

(¢) Uttara Kannada

(d) Bellary
What will be the difference between the
sum of the odd digits and the sum of the

even digits in the number 857423 ?

(@ O
(b) 1
(c) 2

(d) None of these

4kgofrice at 7 5 kg is mixed with 8 kg

of rice at ¥ ¢ per kg. Find the average

price of the mixture,

@) X5 per kg
(b) 555 per kg
(©)  T566 per kg
(d)

( 6 pel- kg



39.

40.

41.

vabda:{} BeSon ISORFITOT JLdTOW B¢
o aiwb ZeoooDy) 88 FINI o

oo, BQT 7

(a) SoToE,
(b) sTorus
(c) =edPo
(d) @eow

papiex jalilenerin] oazsdzﬁd'g_, JomeTt 2308,

SBe30IS 2

(a) =G, I,3e3
(b) cazzm@d

(c) wa

(d) eog, J,0e3

FToFLIEs oo BeIoG, et WITEED),

T FOBO WIS ?
(a) eVITEIZE

(b) T IIR

(c) RS

d) FBoTBRL

BToF 838 C300es 23eI 030G eI LB,

Tz BOR LTI ?
(a) VB

(b) RS

(c) wesc’

(d)  BORBR

38.

39.

40.

41.

In which of the following state, the
Sabarimala Sri Dham Shashtha temple

dedicated to Lord Ayyappa is located ?
(a) Maharashtra

(b) Karnataka

(¢) Manipur

(d) Kerala

Nagaur fair is held in which state of India ?
(a) Madhya Pradesh

(b) Rajasthan

(c) Odisha

(d) Andhra Pradesh

In which district of Karnataka Bhil tribe

is mostly found ?

(a) Uttara Kannada
(b) Dakshina Kannada
(c) Hassan

(d) Tumkur

Koya tribe is mostly found in which of the

ng districts of Karnataka ?

followi

(a) Uc_lupi
(b) Hassan
(c) Bidar
(d) Tumkur



o 0,0 &R (Alefalanted 42. Mein Kampf is authored by
e )

(a) IFpedoda tineToLds (a) Napoleon Bonaparte

(b) T IneF (b) Karl Marx

(€) @ byof (c) Adolf Hitler

(d) RER RO (d) Benito Mussolini

QT2 (ASEAN) T, 50 Befedodsy | 43. ASEAN is headquartered at

SO TeodT. (@ Male
(a) =nd
(b) Kathmandu
(b) Fogomd
() wmwsdr (c) Jakarta
(d) Pepoogpot (d) Kuala Lumpur

T T wBT IRT TET 73 44. Husir and Bihuna are dance forms of

8

%, 50NN 9 which state ?
(a) &0 (@) Bihar
(b) &m0 (b)  Assam

~

(c) WO worey () West Bengal

(d) wam (d)  Odisha
TAFEOF DR WTOWD I drish, 4s. Harshcharita and Kadambari are ¢
(a) Bow works of '

(@) Kalhan
(b)

(b) o
; Panini
© oy, ’

.. (€)  Bang Bhatta
(d) =Bomd !
|

(d)

Patanjal



20D B BLIT TOTDTTLTY BRCRF 0T l 46. The radiant energy received by the earth

TRE D80 BIOOZY Q0O : and its atmosphere from the sun is
SBODEIRTE. I called :
(8) BRRYET (WHOR Zo2) | (@ Insolation
(b) Reepar (FHTod) ! (b) Isotherm
(€) aRRaRRF (Fikes3) (c) Insoenergy
(d) sdadn (3pom08) (d) Albedo
TROHE GB,FII) 0B | 47, Atmospheric humidity is measured by
eYeBHOIRYS. |
W Pashmo (vormis) we v (a) Psychrometer
BRRFQOLITY)

| (b) Anemometer
(b) NNWVreoeeIv® (ocen STs)

(©)  raoensct (Breamne) (c) Lysimeter

d)  BER 00t (TRFRTT) } (d)  Hydrometer

noridesd Q@0 Fe3,ned SO 48. Singareni Coal-fields are located in :
(a) TOFTP FLD i (a) Narmada Valley

(b) B eI (b) Krishna Valley

(c) meemRd gedsl (c) Godavari Valley

(d) ©oPed Bedd (d) Kaveri Valley

oo r™] r_i)ﬁwagl RO IBRCTO 0wy ; 49. Which planet is known as the sister of

l

|

|

|
BE0 RIS ? i earth ?
(a) one E (a) Mars
(b) 308 1 (b) Venus
(c) wg } (c) Mercury
@ 3 ! (d) Satumn

|
-
=2

|

«Q



54. oor), N3 By SOV | 54. Mumbsai receives more rainfall than Pune

5S.

56.

81,

TR0, A [efatet :
(a) =word rovod HINED

(b) I o), DZOBQT

(c) ooy BTRY INT

(d) =oogines, PR,  TYR
RR,WAFRE

B8 wdoden 8 worey ARYTNG, To0R

(a) e=o us%dw}‘

(b) om0 JewooBHRY LOPAERFLITOR

(c) O TR TRBVL ..F’

(d) o TP T[EIEY, domd
WIE

-

o33 mudag o3, 03 m:z:gacs BOORY VT ?

(a) wog, T,ue3
(b) TTOH,
(c) moOwTE
(d) BoFLsE

TPRPOD Ferdod Bd HITW FY
Chlat

(a) CRBEI
(b) RO
(c) noTdT
(d) ouRO&F

35,

56.

57.

-19 -

because

(a) Mumbai is on the windward side.
(b)
(c) Mumbai is a coastal city.

(d)

Pune is at a greater elevation.

Pune has greater vegetation than
Mumbai.

Black soils are ideal for cultivation of
cotton as

(a) their colour is black.

(b)

(c) they are made of lava.

they can retain moisture.

(d) they are found on plateau regions.

Which State has the longest coastline ?
(a) Andhra Pradesh

(b)

(c) Gujarat

(d)

Maharashtra

Karnataka

The highest point in the Aravalli range is
(a) Dodabetta

(b) Anaimudi

(¢)  Guru Shikhar

(d) panchmarhi



58.

59.

60.

61.

Pod, UMD, TR, Beso@ev,
300, [N AT odnzm IDnY
OIIONEL ?

@ T

(b)
()
(d)

Fov
o3¢0
rRewd

Tonesf 0Ny 00 S admoRBdeodn
TOWOPAT.

(a) WSOR*

(b)
(c)
(d)

BHOTOLIR®
FaTOTOTD
DWITOTR

WEOTFHD, I FoLOWOI0 WNOTF
TR,

(a)
(b)
(©)
(d)

BROHOTIBO B FIor T
Be0y ) B0, T,53e3
BRODTRD ) Feoy

805, T, Tie3 ) IDNoTOTOE

TR0, T SOTRY RedrodF serdes AT’
)

(a) ev30 T3

(b)
(c)
(d)

f~ptolgelay
Cllntuialey

BRI

59.

60.

61.

<202

Bhavani, Chinnar, Hemavati, Honnuhole,

Kabini are tributaries of which among the

e D
following rvers -

(a) Krishna
(b) Kali

(c) Kaveri
(d) Godavari

Sangam Age is associated with the
history of

(a)
(b)
(c)
(d

Benaras
Allahabad
Tamil Nadu
Khajuraho

The Buckingham Canal runs through

(a)

Tamil Nadu and Kamataka

(b) Kerala and Andhra Pradesh
(¢) Tamil Nadu and Kerala
(d)  Andhra Pradesh and Tamil Nadu

Singhbhum where copper ore is mined &
in

(@)  Uttar Pradesh
(b)y 7 harkhand

(¢) Andhra Pradesh
(d) Odisha



62.

65.

TEFO LRTITY, 1308, T evZT2HTOCING
To%k0e8 CXRT ?

(a) B

(b) SO

() QW

(d) OO BRLITO

AOTR  FHHW  JToNOIIoD abmmﬁ@

(Great Bath) 3¢ 3o wabdad.
(a) Ec‘a?’_}

(b) HeIZoemode

(c) Cremo®

(d) FOPWONI®

BRCLYT 0,286 TOBTONCIRT
TROREIT, T TR IO ?

(a) TOTPT

(b) TFeLERD

(c) TRIFeD

(d) wewrd

FINS T ToRSD) m@oﬁEs oo%s

QOBed-11 ¥ BoroHAT ?

(a) R

(b) THMOTR
(c) TRV

(d) ToRT

8 i Y S V011 3 A i 3 VS S 3 A T

62.

63.

64.

Which dynasty succeeded the Chalukyas
in the Western India ?

(a) Cholas

(b) Kakatiyas

(c) Pallavas

(d) Rashtrakutas

The Great Bath of Indus Valley

Civilisation is found at

(a) Harappa

(b) Mohenjo-Daro
(c) Ropar

(d) Kalibangan

What is the present name of Dwara
Samudra, the ancient capital of the

Hoysalas ?

(a) Mathura
(b) Halebid
(c) Raourkela
(d) Belur

Which one of the following Inscriptions

are related to the Chalukya Kking,

Pulakesin-1I1 7

(a) Maski

(b) Hathigumpha
(¢) Aihole

(d) Nasik



66.

67.

68.

69.

LOBNRY, [SFE Isv  Womdadens
ey evRT e BN B BUNT cotss 2, b3
T, oS 08, WATTO ?

(a) wdFef

(b) oo BT

(c) wWeowdrFs*

d) a3ed

BooE, ST, BWRAE B, 7B TR BB
BRowZes, oD FRCANTTI odRed ?
(a) Reawo gF feedd

(b) v RomyT dvr'

(c) oo vwT Tood*

(d) 9¥.8. Joon®

& J0NS 14 X030, CANTy I 0T, 3
BP0 DETOTOT x;m?aoSd et Lome
FRFs BRI z:;_,&g!raedaﬁd% eRT ?

(a) COTRIoH

(b) Bo¥oowodF

(c) O TIe*

(d) 33,

goF  AEREIIY palela)

m%&:www&:.

(a) A afeveprolafutert
(b) AR B el

(c) de3 wom, Re'

(d) =180, Doz, N0

—_—

—— et . e . S i | ] it e S

-22

66.

67.

68.

69.

()

i f the foll
Which 0 t Round Table

Minister headed the Firs

: 2
Conference 1n London

(a)
(b)
(©)
(d)

Churchill
Ramsay McDonald
Chamberlain

Disraeli

Who declared «Swaraj is my birth right
and I shall have it” ?

(a) Gopal Krishna Gokhale

(b)

(c)
(d) K.T.Telang

Bal Gangadhara Tilak
Lala Lajpat Rai

Who was among the following Bhakti
saints gave a new orientation of Hinduism
through his doctrine of Advaita or
Monism ?

(a)

Ramanuja

Sankaracharya
(c)
(d)

Guru Nanak

Chaitanya

The “Arya Samaj” was founded by
(a)
(b)
(€)
(d)

Swami Dayananda Saraswati
Swami Vivekananda

Keshav Chandra Sen

Ishwar Chandra Vidyasagar



70. RGo* WHTERY,, NS o =00 l 70. Who among the following played an
T8, SLAZT ?

yji P

12,

73

(a)
(b)
(¢)
(d)

oFe  wotge  HERD  oTT

IDOVREG,, POIE NSIFT BIT

mdab‘aif soagaamr
R BTSN
WLV’ o, T’
aa.% neses oborj,

CIRTO SNTTO ?

(a)
(b)
(c)
(d)

OB BOTOR
ST IYY

TE'F WSRT,

OB TR0 1), T

PRmes  WLTYORY,
209, CoRReTR0RD.

(a)
(b)
(c)
(d)

QTF.F. 0R
E2500F FTUD
overst.praliapleplerei iy
QJpewT0 LIS

ToTo  oTerF Q0T

(a)
(b)
(c)
(d)

ez, 2300300 11
TR, 0O

SR oo’  Holalovsp
oo’ opIV ﬁmeﬁc‘

B, 030N
FEcHOREIT HReoT FROBY B0 =O3)
1857 o wortod &m0 Fo0RFTY, LD,
R 0% 360 evgoepme0ctRnE .

i
|
|
i
|
|
|
!
i
:
|
|

P

oo

—_—

[ ——————— SR g LR

L.

| 72.

3.

important role in Gadhar Movement ?
(a)  Shyamji Krishna Verma

(b) Lala Hardayal

(c) Bipin Chandra Pal

(d) Vishnu Ganesh Pingle

Who was the Governor General of India
during the time of the fourth Anglo-
Mysore war ?

(a) Lord Dalhousie
(b) Lord Wellesley
(¢) Lord Benedict

(d) Lord Mountbatten

The Bhoodan Movement had been
started by

(a) M.K. Gandhi

(b) Acharya Kripalani
(c) Jayaprakash Narayan
(d) Vinoba Bhave

Govind Dhondu Pant, popularly known
was Nanasaheb, and one of the principal
leaders of the Revolt of 1857, was the

adopted heir and successor of
(a) Peshwa Baji Rao 11
(b) King of Jhansi

(©) Madhav Rao Sindhia

(d) Malhar Rao Holkar



74. Beriberi is caused by 2 deficiency of

74, wWod_ ER03clom evonno3s. !
(a) DI W, f (a) Vitamin B,
(b) QD' 2 ; (b) Vitamin B
() QW' W, | (c) Vitamin B,

i

(€] BB, (d) Vitamin B,

75, 48 PSR B eioY otns TN | 75. G letter in 4G spectrum is used for which
evTcdpeNTOs 9 | word ?

(a) RRewer (Wones) (a) Global

(b) N[IFS (WRO3) (b) Governance

(c) WITe3* (2.e9r)
(d) nRene

(c) Generation

(d) Google

76. B3 TINIJYNYY, cxnRBRoD, d¥owsow | 76. Which one of the following is a condition
of delayed blood clotting ?

U8 DYriedd, DB 2,000 1SRN ?

= @
(a) TEmS (a) Haemorrhage
(b) TRoeOIR (b) Hematuria
() &eBRQAoDH | (c) Haemophilia
(d) OTB&es3 ' (d) Anaemia

77. Madalasa Charitra was written by
(a) Hari Hara
(b) Pulakesi
() Krishnadevaraya
(d) Tippu Sultan

77. SO 30F,0NI, WITIH . ]
(a) =OTT

(b) oFed

(¢) %%deaﬁoa&b
(d) &g Do’

78.  Thetemples at “Halebidu and Belur “belong

78. BYRCRD NN WewrdIQTOT
to which of the following dynasty ?

Teszooedonsh oXe TowEs03E, Feod ?
(a) ﬁraeod;j# Oo%e303

(b) oaaiwﬁraw D003

(€) WA WOLT, TowE=03

(a) Hoysala dynasty

(b) Rastrakuta dynasty

(¢) Badami Chalukya dynasty
| (d) Kadamba dynasty

T T A G R S S Y ST 41 im0 o |

(d) 3BZow Tow=OT |
-24



79.

80.

81.

82.

83.

FINSINTE, ORI o {eve)
I 0330 aRASNDIE VYOI

L0 Qe (VD oL3TF) Q3.

(a) @300 &3 =
(b) @7 (pH 7)

() oo Jedd

(d) &3e800 3 &

B O Ppusmond.
(a) W83 Jen

(b) Terc3e 3TN STIFD
() TRDH &e3,3

(d) ToDT 8ex,3

TRTBREBNEO - 3303
FOONF RTF BT

(a) TS &)ci:aﬁz:ésﬁ afe} PN
(b) T8 DTS TVOTBOR

(c) T ToBT TOBOT

(d) @& Rogeeo

=,8,3000, Forowsdn w0 §3swon

0T DRWTOTT 0B3RBT .
(a) i aplyelevele

(b) TemoX0

(c) aqj,,&i!aeaoi?o

(d) 030TeROR0

o e e i g i et § 4 TR A TELL 3 - Y S e T i R T OSB3 1 R T8 R ] SR B ] 1 e 1) S Y 1 St i 2 b

79.

80.

81.

82.

83.

- 25 -

Which of the following is a non-metal
that remains liquid at room temperature ?

(a)  Phosphorous

(b) Bromine
(¢) Chlorine
(d) Helium

Heavy water is :

(a) Deuterium oxide
(b) pH7

(c) Rain water

(d) Tritium oxide

Decibel is the unit for

(a) Speed of light

(b) Radio wave frequency
(c) Intensity of sound

(d) Intensity of heat

Solar cells work on the principle of
(a) Photovoltaic effect

(b) Photoelectric effect

(c) Photoconductive eftect

(d) Photosynthesis

An element that does not occur in nature
but can be produced artificially is

(a) Thorium
(b) Radium
(c) Plutonium

(d) Uranium



In which case the gupreme Court |5jq

CXRS JeTWFTY IFperd o, odneodsy | 84.
L (X] -] ¥ HPE " L
asic Structure’ »

[ i alll B
TR TR ATV OB T 9 ' down the doctrin€ ot

(@) 2000 ITI Me I35 | (a) Indira Nehru Gandhi case

th] QD?.?UF' ﬁd?é a_j)ﬁdm (b) Mlner\/a M]“S case
(c) decw, SQ@_& ?:e:g)rim Oaouiz® Central Coal Fields Ltd. case

308

(c)
(d) Keshavananda Bharati case
(d) #FeSIoT oo ,808

85. Which one of the following article deals

B TN O edIRY O BT (&5330)
TR 58500 27} 3, B0 9 ! with the pardoning power of the President ?
(a) eI 71 (a) Article 71

(b) FedS 74 (b) Article 74

(c) SedI 72 (¢) Article 72

(d) SeDI75 (d) Article 75

LCTD FeineoetiTt aaf'% a’%mﬂ@ﬁ
TIRTTOAIS 2

86.  One kilometer is equal to how many miles’

|
i
i
i
!
|
!
| (@) 0.84
(a) 0.84 |
&) 05 ! (d) 0.5
L © 16
(c) 1.6 |
(d) 0.62 | (@ 062
|
|
T T TmSE Qe |
Z ~ L. 8 —— ! 87. Ele1 . - -
| Ctric current is measured by
Y.
BYCLROTLS, | N
(a)  Bab teriof (WOIFT) § ommutator
(b) XTFRe0erc* (FToctTen TRTY) ! (b) Anemometer
!
(c) ©NUO* (I, BT A0TE) | (©)  Ammeter
(d) TP, DOIT (T, vy IRy ; @ Voltmeter

~26_



88. BINS 03NN SeDINY BRONY, Tody 00 ] 88. National emergency is declared under

89.

90.

BBF wo:%)aoinas_gl PreAZoRNS ?

(a) 3eaDT 358
(b) Seds 352
(c) 3eDSI359
(d) SedI 360

\

QIOTEEC) RONPOIT O3 eﬁabz%ecs@
&% B IoDIY DRF O SRBIS ?

(a) eI 18

(b) SeDI15

() S 14

(d) e 17

BreRes ;Jcbz% aﬁ%, fadi% ToWORATIOP 83

FINSYRTE, 0P RO ?

() RPRRC TN X LI FURs
R ey

(b) o3RRTE QOFE, FROFT W0
ST TS0 WI0Zy

(c) e%ﬁomésd LToRS OB

(d)  TorpRs S0 TR

|
|
!
|
|
!
|
!
{
!
|
|
!
i
|
!
!
|
|
|
l
i
!
|

89.

90.

~27 -

which of the following articles ?

(a) Article 358

(b) Article 352

(c) Article 359

(d) Article 360

Which Article of the Indian Constitution

abolishes untouchability ?

(a) Article 18

(b) Article 15
(c) Article 14

(d) Article 17

Which of the following is correct with

respect to “Right Against Exploitation” ?

(a) Prohibition of traffic in human
beings and forced labour

(b) Freedom as to payment of taxes for
the promotion of any particular
religion

(c) Protection of interests of minorities

(d) Equality before the law



91.

92:

NIV, OSRREIY Tow0ed0D

Qe 3 BFToN "w"% SBeRNS ?

(1)

(ii)

(iii)

(iv)

(a)
(b)
(c)

(d)

TR, YD, omdsm wokeens, BeR,

Mm,EE X YUITIT  LHToRETON
sQFE 33T TI03,

JOTBY) WBY  YVITI0 WP
$e00,(30BI),  IWowO  Te3T
Clola asﬁﬁ::aacm NOCT, 2

DR, FHOFFOR clpen; BWeITITOL,
DB Q0T ESIARATL Y
DWBTRABRDITO

wa:sdu-.smq dz::faw B RogedIeD,
mg esdeagrir.b m@g meszaemva&
dt:b@ci:

(i) =33 (i)
(i), (iii) 33 (iv)
(ii) =3 (iv)

(iii) =33 (iv)

WIOBTHRTOINA  oINT  FICDF

D &RTS 9

() TR cInQestH

(b) Tpdex* somsor

(c) 3BT

() 2PYriv) ctnmyme we.

{
1

i

e A T 1 T 1ok ] T ARSI E3 TR

91.

92.

-28 -

Which

: f State Policy 2

Directive Principle o1 ©

i) Freedom in the economic field for

(1 T -
the interest of the consumer and
producer

(i) Regulation of economic system of
the country to prevent
concentratioﬁ of wealth and means
of production

(iii) To ensure decent standard of living
and facilities of leisure for all
workers

(iv) To protect and improve the
environment and to safeguard
forests and wildlife

(a) (i) and (iii)

(¢) (i) and (iv)

() (iii) and (iv)

. arc StEd as a
of the following are 11

F ;
or the Election Commission, at the

district level,

who acts ag the district

eturning officer 9

(a)
(b)
(c)
(d)

District M agistrate

Bt -
olice Commlssioner

Tehg“dars

None of these



93.

9%4.

95.

96.
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(a)
(b)
(€)
(d)

FTIT® Q0BT maiwdas:— 2022 © ﬁq:‘é

PIFHIT WoINY B
s{,éﬁ S
cfjcg5 TSeS Ted

mﬁmo’ BOT VS

3RO ?

(a) oW
(b) SIZ=S
(c) Dongdncd
@ s,

g o TTWF (VRO B, B/W

TONFOITS TWFT WOTD .
() TR B

(b) TR T,

(c) ooRT BB,

(d) DBer3 3B

oo, R, oo, T3 3,30, B NS

CAREOOT E03CIRRTT ?

(a) oo, 0,0,

(b) oot DRI BT AT
(c) oot OO

(d) oox©3

93.

94.

95.

96.

-29-

Which among the following is not a

standing committee ?

(a) Public Accounts Committee

(b) Ethics Committee

(c) Railway Convention Committee
(d) Business Advisory Committee

Which is the venue of the ‘Semicon India

Conference-2022’ ?

(a) Mumbai
(b) New Delhi
(c) Bengaluru
(d) Chennai

Right to property according to
Constitution is

(a) Fundamental right
(b) Legal right

(¢) Social right

(d) Directive principles

the

The representatives of the state in the
Rajya Sabha are elected by which one of

the following ?

(a) Chief Minister of the state

(b) Elected members of the
legislative assembly

(¢) Governor

(d) President

state
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(a)
(b)
(c)
(d)
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(a) T
(b) o3 e
(c) w33F

(d) st
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(a) &=

(b) zpEct

(c) = =

bed
(d) mes

&

POUET 3TinE RO - oS’ W0
WIC O 9

(a)
(b)
(©
(d)

TR {,
[gStdepril
BT

S05,3, 533

98.

99,

0-

100.

Rescarch Organisatiop,
lly tested solid rocket
ent of which

Indian Space
(ISRO) successfu
booster HS-200, compon

mission ?

(a) Gaganyaan
(b)
(c)
(d)

Aditya-L1
Chandrayaan-3
Aditya-L2

Lyman region, that was recently making
news, is located in which country ?

(a)
(b)
(©)
(d)

Russia
Ukraine
Turkey

Egypt

Ronnie O’Sullivan, who recently became
the oldest World Champion, plays which
sport ?

(a)
(b)
(©)
(d)

Tennis
Snooker
Squash
Golf

India’s largest lithium-ion battery plant is
located in which state ?

(a) Maharashtra

(b) Gujarat

(€)  Tamil Nady

(d)  Andhry Pradesh
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